Calculate the area of the Calculate the area of the If the triangle has an area of

square triangle : 40 cm? calculate the height
[ L
6 cm §

A 4
4 cm 10 cm

The logo shown below has a total area of 125 cm? and the
square has side length 5 cm. Calculate the width of the logo




4 cm

Calculate the area of the Calculate the area of the
square triangle
[T L]
6 X o= hH X G X4
36 cm?* m [
el =2 ecm?

If the triangle has an area of

40 cm? calculate the helaht
%X 10 x h =40

i

5h = 40

10 cm

h=8cm

The logo shown below has a total area of 125 cm? and the
square has side length 5 cm. Calculate the width of the logo

5x5 =25 cm?

4 triangles have an area of 100cm?
| triangle has an area of 25 cm?

4 x5 xh=125

h =10 cm

—

T

Tota width
Ocm+ 5 cm + 10 em

= 25 em




The logo shown below has a total area of 112 cm?. The square has a side
length of 8 cm and all of the triangles are identical. Calculate the width
of the logo.
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The logo shown below has a total area of 112 cm?. The square has a side

length of 8 cm and all of the triangles are identical. Calculate the width

of the logo.
Area of the square
8 x 8 = 64 cm”

Area of the triangleg
112 — 64 = 48 cm?

Area of a triangle

Area of one triangle
48 =4 =12 cm”

A ;x8xh—12
h=3cm
Width
=3cm+8em—+ 3 em)
= 14 ecm
............................... >
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PROBLEM 18

The logo shown below has a total area of 204 cm?. The square has a side
length of 12 cm Calculate the width of the logo.
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PROBLZM 18

The logo shown below has a total area of 204 cm?. The square has a side

length of 12 cm Calculate the width of the logo. .
g e e e "% Area of one triangle

Area of the square 60 = 9
12 x 12 — 30 em?
- 2
R R h
% X 12 x h = 30
Area of the triangles h=25cm
204 — 144 Width
— 60 cm2 D WIAER  eeemmemememeemmmmmme >
0+ 12495
= 22 cm
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PROBLZM 1C

The logo shown below is a made from a square with 2 congruent isosceles

triangles removed. It has a total area of 108 cm?. Calculate h.

12 cm
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PROBLZM 1C

The logo shown below is a made from a square with 2 congruent isosceles
triangles removed. It has a total area of 108 cm?. Calculate h.

..... T ——, Area of one

Area of the 7777777777777 "
: \ / i triangle

36 + 2 =
2

full equare
12 x 12

— 144 em?

= 18 em

—h-» 1
: 2 . —x12x h =18
Area of the triangleg : 2
144 — 108 L — 2 o

36 cm”

12 cm
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PROBLEM 10

The logo shown below is a made from a square with side length 6 cm
and 4 congruent isosceles. It has a total area of 156 cm?2.

Calculate the perimeter of the logo.
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PROBLZ/M 10

The logo shown below is a made from a square with side length 6 cm

and 4 congruent isosceles. It has a total area of 156 cm?.

Calculate the perimeter of the logo. L 6% h— 30
Area of the gquare 2
—6x6 h =10 cm
. = 36 cm®
i\ Area of the triangleg
156 — 36
= 120 em?® 22 — 102 + 32
Area of a triangle z=v109
=120+ 4 = 1044
_ Derimeter
= JUem 8 x 10 - 44

— 83.52 cm
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PROBLE/M 1A

The logo shown below has a total area of 112 cm?. The square has a side
length of 8 cm and all of the triangles are identical. Calculate the width
of the logo.
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PROBLEM 18

The logo shown below has a total area of 204 cm?. The square has a side
length of 12 cm Calculate the width of the logo.

« width >
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PROBLEM 1€

The logo shown below is a made from a square with 2 congruent isosceles

triangles removed. It has a total area of 108 cm?2. Calculate h.

12 cm

PROBLEM 1D
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The logo shown below is a made from a square with side length 6 cm
and 4 congruent isosceles. It has a total area of 156 cm?.
Calculate the perimeter of the logo.
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PROBLE/M 1A

PROBLEM 18
The logo shown below has a total area of 112 cm?. The square has a side The logo shown below has a total area of 204 cm?. The square has a side
length of 8 cm and all of the triangles are identical. Calculate the width length of 12 cm Calculate the width of the logo. :
Area of one triangle
of the logo. Area of a triangle Area of the equare 60 < 2
12 x 12
Area of the square h L oawh 1o 2 — 30 cm?
8 x 8 =64 cm 2 = 144 cm h
he3em L L1 e
Area of the triangles g X12xh =30
112 — 64 = 48 cm? Width Area of the triangles h=25cm
Area of one triangle =3cm+8cm+ 3 cm Al — 1421 Width
A — 2 — =60cm”~ < width
s Width e > =22 cm
PROBLEM 1€ PROBLEM 1D

The logo shown below is a made from a square with 2 congruent isosceles

triangles removed. It has a total area of 108 cm?2. Calculate h.

Area of the , Frea of one

L triangle
full equare : 3% Lo
12 x 12 SR
— 144 em? S

i 4-h > 1
: P x12xh=18
Area of the trianglee 2

144 — 108

36 cm?

h=3cm

12 cm
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The logo shown below is a made from a square with side length 6 cm
and 4 congruent isosceles. It has a total area of 156 cm>.

Calculate the perimeter of the logo. L 6% he30
Area of the gquare 2
—=aRg h=10cm
i = 36 cm?
i\ Area of the triangles
156 — 36
— 120 Cm2 (L,2 — 102 + 32
Area of a triangle z = V109
=120+14 =10-44
_ Derimeter
= SUem 8 x 10 - 44

= Eh.42 cm
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